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- Visual Basic
- Option Explicit
.- Perl

. use strict ‘vars’;

- -pendantic-errors / -Werror
- Javascript
- jslint / jshint

. “use strict”;
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char studentName [ NAME_LENGTH + 1 ] = {'\0'}: // full name of student
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' declare all variables Dim accountIndex As Integer

Dim accountIndex As Integer
= accountIndex = 0

Dim total As Double

Dim done As Boolean ' code using accountIndex

' initialize all variables
accountlIndex = 0
total = 0.0

Dim total As Double

done = False total = 0.0

' code using total

' code using accountIndex

Dim done As Boolean
' code using total done = False
' code using done

T ) (TG CRTe While Not done

While Not done
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In

int accountIndex = 0;

// code using accountIndex

double total = 0.0;
// code using total

boolean done = false;
// code using done
while ( ! done ) {
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Scope

- "Scope” or "Visibility”
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Scope
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- C++ like: block >> routine >> class >> global

- Java/C#: package or namespace
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Scope

1 // initialize all variables
2 recordIndex = 0; 25 recordIndex = 0;
3 total = 0; 26 while ( recordIndex < recordCount ) {
4 done = false; 27
28 recordIndex = recordIndex + 1;

26 while ( recordIndex < recordCount ) { S
AT A 62 total = 0;
28 recordIndex = recordIndex + 1; 63 done = false;
64 while ( !done ) {

64 while ( !done ) { 69 if ( total > projectedTotal ) {
70 done = true;

69 if ( total > projectedTotal ) {

70 done = true;



- global >> class
- public >> protected >> private

- loop >> routine
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- Persistence Types
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Persistence
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. Binding: H:=9} g2 14

- Binding time= 7128 == A

titleBar.color = OxFF; // OxFF is hex value for color blue

private static final int COLOR_BLUE = OxFF;
private static final int TITLE_BAR_COLOR = COLOR_BLUE;

titleBar.color

TITLE_BAR_COLOR;

titleBar.color ReadTitleBarColor();

T A Al >> AU B >> 29 A >> HH| dd Al >> Just In Time



Data Type & Control Structure
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- Jackson, 1975



Data Type & Control Structure

- Sequential Data >> Sequential Statements




Data Type & Control Structure

- Selective Data >> If/Case Statement
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Data Type & Control Structure

- |terative Data >> Loop Statement
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Exactly One Purpose
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// Compute roots of a quadratic equation. // Compute roots of a quadratic equation.

// This code assumes that (b*b-4*a*c) is positive. // This code assumes that (b*b-4*a*c) is positive.
temp = Sqrt( b*b - 4*a*c ); discriminant = Sqrt( b*b - 4*a*c );

root[0] = ( -b + temp ) / (2 * a ); root[0] = ( -b + discriminant ) / ( 2 * a );
root[1l] = ( -b - temp ) / (2 * a ); root[1l] = ( -b - discriminant ) / ( 2 * a );

// swap the roots // swap the roots

temp = root[0]; oldRoot = root[0];

root[0] = root[1]; root[0] = root[1];

root[1l] = temp; root[1l] = oldRoot;



Fxactly One Purpose
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- if (pageCount == -1) { throw Exception(msg); }

- if (bytesWritten < 0) { numDiskDrives = -bytesWritten; }



Fxactly One Purpose
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- Card, Church, Agresti, 1986



Thank You



